=l SVEDBERGS
8o i

B

@)

| \ _— )]
]
Z
1 /




=| SVEDBERGS




96952: 150cc

Pos.

Ant/Qty

Titel / Title

Art.No.

Rosett kit / Rosette kit

Insatsring / Inside ring

Backventil 12 1 / Non return valve 12 |

Sate / Seat

O-ring 17,17x1,78

Anslutningsmutter / Connection nut

Blandarhus / Mixer body

Tackhatt / Cover

99121 /99129

Skruv M4x10 / Cross screw M4x10

99121 /99129

Blandarvred / Mixer handle

99121 /99129

Lasning temperatursparr / Locking for temperature lock

99121 /99129

Temperaturstopsfjader / Spring for temperature stop

99121 /99129

Flodes /| Temperaturknopp / Flow /| Temperature knob

99121 /99129

NINININININ | = | e | e | | | o | o [ o [ |
alR N2 o|o|o|w|o|a|h|w|N|alo|@R (N |G AIWIN (=

Flédesring / Flow ring 99121
Spérr "Eco-flow" / Locking "Eco-flow"
Keramisk tétning / Ceramic cartridge 92502
Omkastarknopp / Diverter knob 98898
Transportskydd / Protection
Termostat / Thermostat 98897
Temperaturstopp / Temperature stop
Temperaturring / Temperature ring 99129
Perlator / Aerator
Omkastare / Diverter 98898
O-ring 23,91x1,78
Duschslangsinfastning / Shower hose connection
96953: 160cc
Pos. | Ant/Qty Titel / Title Art.No.
1 2 Gummitdtning G% / Rubber packing %
2 2 Lasring for backventil / Locking ring for non return valve
3 2 Filter
4 2 Backventil 12 1/ Non return valve 12 |
5 2 Sate / Seat
6 1 Blandarhus / Mixer body
7 1 O-ring 23,91x1,78
8 2 Tackhatt / Cover 99121 /99129
9 2 Skruv M4x10 / Cross screw M4x10 99121 /99129
10 2 Blandarvred / Mixer handle 99121 /99129
1 2 Lasning temperatursparr / Locking for temperature lock 99121 /99129
12 2 Temperaturstopsfjader / Spring for temperature stop 99121 /99129
13 2 Flodes /| Temperaturknopp / Flow / Temperature knob 99121 /99129
14 1 Fl6desring / Flow ring 99121
15 1 Sparr "Eco-flow" / Locking "Eco-flow"
16 1 Keramisk tdtning / Ceramic cartridge 92502
17 1 Omkastarknopp / Diverter knob 98898
18 1 Transportskydd / Protection
19 1 Termostat / Thermostat 98897
20 1 Temperaturstopp / Temperature stop
21 1 Temperaturring / Temperature ring 99129
22 1 Perlator / Aerator
23 1 Omkastare / Diverter 98898
24 1 Duschslangsinfastning / Shower hose connection

9)




